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00 O O The supply curve shows the lowest possible price at which some producer would be willing to supply each
unit. Producers actually receive the going market price for these units. Producers who would have been willing to
supply at a lower price benefit from selling at the market price. Indeed, we can measure how much their well-being
increases. To see this, consider first the total (I variable[] costs of producing and selling the total quantity that is
actually supplied. We can measure this cost unit by unit. For the first motorbike supplied into the market, the
supply curve in Figure 2.1B tells us that some producer would be willing to supply this for about $400, the price just
above where the supply curve hits the axis. This amount just covers the extra cost of producing and selling this first
unit. The supply curve tells us that some producer is willing to supply the second motorbike for a slightly higher
price, because the extra cost of the second unit is a little higher, and so on. By adding up all of the supply curve
heights for each unit supplied, we find that the whole area under the supply curve [J up to the total quantity
suppliedd is the total cost of producing and selling this quantity of motorbikes. For instance, the total cost of
producing 15,000 motorbikes is equal to area z in Figure 2.1B. This total cost can be measured as a money amount,
but for the whole economy it ultimately represents an opportunity cost——the value of other goods and services
that are not produced because resources are instead used to produce this product [J motorbikes] . The total
revenue received by producers is the product of the market price and the quantity sold. For instance, at a price of
$1,000 per motorbike, producers sell 15,000 motorbikes, so they receive $15 million in total revenue [J equal to
areae +z[1. Because producers would have been willing to supply some motorbikes at a price below $1,000,
receiving the going market price for all units results in a net gain in their economic well-being. The net gain is the
difference between the revenues received and the costs incurred. This net gain is called producer surplus, the
increase in the economic well-being of producers who are able to sell the product at a market price higher than the
lowest price that would have drawn out their supply. For a market price of $1,000 in Figure 2.1B, the producer
surplus is the difference between total revenues [1 area e + z[J and total costs [1 area z[1 . Producer surplus is thus
equal to area e, the area above the supply curve and below the price line.
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